Peer Feedback Argument Frame

Problem: Mathematical Principle
A squirrel gathered 5 acorns each day for a week. How many acorns did it collect? or Vocabulary:

Eddie solved the problem by doing 7 groups (one for each day of the week) and then 5
acorns in each group, which is 7 x 5 = 35. Ellen thinks of it as adding 5 together 7 times.
Shedoes5+5+5+5+5+5+5 =35 or she realized she could write itas 5 x 7= 35. Who
do you agree or disagree with? Explain your reasoning.

State your claim and then use this organizer to write an argument that supports your claim.

Claim:

Evidence: Reasoning:







